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I. Mental Maths: 
1) 37 + 61 = 98 
2) 55 - 11 = 44 
3) 302 303 304 
4) 879  880  
5) 639 640 

 
II. Write the numbers in Ascending Order: 

1) 58,  87,  103,  213 
2) 905,  925,  945, 999 
3) 639,  770,  783,  816  

 
III. Write the numbers in Descending Order: 

1) 637,  585,  485,  444 
2) 301, 223, 200, 184 
3) 109, 99,  92,  22  

 
IV. Write the Place Value Of the Underlined Number: 

1) 331 = 3 Hundreds or 300 
2) 642 = 4 Tens or 40 
3) 911 = 1 Ones or 1 
4) 187 = 8 Tens or 80 

 
V. Expand the following Numbers: 

1) 96 - Nine Tens + Six Ones or 90 + 6 
2) 111 - One Hundreds + One Tens + One Ones or 100 + 10 +1  
3) 524 - Five Hundreds + Two Tens + Four Ones or 500 + 20 + 4 
4) 873 - Eight Hundreds + Seven Tens + Three Ones or 800 + 70 + 3 
5) 639 - Six Hundreds + Three Tens + Nine Ones or 600 + 30 + 9 

 
VI. Write in Column and find the Sum: 

 
 
 
 

 

VII. Write in Column and find the Difference: 
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VIII. Problem sum: 

a)  
                                                                                       T   O 

No. of students in the first bus                           5   0     
No. of students in the second bus               +    4   8 

 
Total no. of students                                            9   8 

           
Ans: There were 98 students at the picnic altogether. 

 
 

b)  
                                                                                                          T   O 

No. of children at the birthday party                                  56  15 
No. of children who liked chocolate cake                        -   1   9 

 
Total no. of children who did not like chocolate cake         4  6 

                     
Ans: At the birthday party 46 children did not like chocolate cake. 
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